


Beam center=(15.5 cm,15.1cm)
In the ruler reading
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Intensity
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Entries 144
Mean x 3.09
Mean y 3.162
EMS x 3.074
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Mean x
Mean y
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| RMS y

Entries 144
Mean x 3.267
Mean vy 4.851
RMS x 3.144
1.522
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Mean x
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RMS x
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3.278
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Entries 144
Mean x 3.273
Mean vy 3.305
RMS x 3.145
1.519
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Mean x
Mean vy

1 RMS x
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3.263

2.528
3.154
1.485
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Entries 144
Mean x 3.191
Mean vy 2.666
RMS x 3.126
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Run#380012
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Entries 144
Volt Mean X 3.146
Mean y 5.264
%;; .| RMS x 3.093
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Beam center=(15.5 cm,15.1cm)
In the ruler reading
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Entries 144
Mean x 3.282
Mean vy 4.096
RMS x 3.16
1.764
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Entries 144
Mean x 3.268
Volt Mean vy 4.083
. ~.. | RMSx 3.14
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Entries 144
Mean x 3.245
Mean vy 4.071

I RMS x 3.14
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